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\\ grid points showen, draw the Stope fie\d for s DE,
b) Give a rough guess sketdh of The two selutten
vl HLMJM Y =3 qnd y(a)=-1,
ey 9 Checkthet Y= 1+ Ce” 15 a sdution of the DE
'L\‘ @A) S‘;&“‘Pk d) Find the particudar so\uhm—ﬁrwhicl') 964) =3,
d) slope -ffe\d ’mdcvev_sdeh*‘of X . b) see grid
9 9-— l+ce” ot = cef I (rce®) =\ = ce* v
;r' 0+ Cde =ce’— S | "beskformt
d 3=y@=1rce* » 2=ce* C= 2/ef — gt \+ &ye” (" 1427
dontt sh»?:.iv-:, -kh\s is w‘f\d‘ was requested
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The Onlg way o che.c\z 't\r\od' an efor was na\” made Is by seeing w\'\d"ncr or not your
Y selution " actually sovesthe equation itis Spposed fo be a soquan of,
example : quadm\%c equation XY =2=0

(n) derwve soln, use quo\dmchc = — a=\+{q =- = 2,4
e ey X=~l% JI-4@) =x{J =-1x3 =2,

mla INco
chede sans: 24 2-2= 430= 4 $#0! ata 50§n
A~z =—tb=to-5 0L net-a—soln

(i) denve sdn_ use quadratic v~——l:‘:m¢_‘__‘_§_ﬁ_a \:53_1-

formulacorvecty 1

e sz T [LFI=2= 2=z =0 v°
(DiHA-2= 4-4=0\"
For o 4storder DE : F(%,9,%)= 66:9,9')
o check if Y=yOx) 1sa soln, substitute everywhere : F(x, Y6 ;'9'("73 = G(X\"ﬂ(“)\ ylesy)
«}m\ S'lfnphfy unkil you see both sides agree, If they are not equivalent , th 15 ok a soln,
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